
> > 

> > 

> > 

(1)(1)
> > 

(3)(3)

(2)(2)

restart:

with(linalg);

E7:=diag(1,1,1,1,1,1,1);

A7:=matrix(7,7,[[0.3, 0.1, 0.15, 0.05, 0.03, 0.001, 0.2], [0.05, 

0.4, 0.25, 0.01, 0.02, 0.04, 0.1], [0.01, 0.02, 0.2, 0.05, 0.1, 

0.03, 0.01], [0.02, 0.01, 0.1, 0.3, 0.15, 0.25, 0.03], [0.15, 

0.1, 0.13, 0.11, 0.3, 0.01, 0.02], [0.05, 0.04, 0.07, 0.1, 0.09, 

0.25, 0.04], [0.02, 0.03, 0.01, 0.2, 0.25, 0.15, 0.03]]);



(7)(7)

> > 

> > 

(5)(5)

(4)(4)

> > 

(6)(6)

(3)(3)

> > 

B7:=matadd(E7,-A7);

X7:=matrix(7,1,[.20, .35, .20, .47, .45, .21, .48]);

sum(X7[i,1],i=1..7);
2.36

Y7:=multiply(B7,X7);



(7)(7)

(8)(8)
> > 

> > 

(9)(9)

> > 

(13)(13)

> > 

> > 

(10)(10)

(12)(12)

(11)(11)

> > 

(3)(3)

sum(Y7[i,1],i=1..7);
0.64469

for j from 1 to 7 do b7[j]:=sum(B7[i,j],i=1..7) od;

for j from 1 to 7 do X7[j,1]:=11.94005004*b7[j]/sqrt(sum((b7[i])

^2,i=1..7)) od;

sum(X7[i,1],i=1..7);
26.83879479

sqrt(sum((X7[i,1])^2,i=1..7));
11.94005004

YY7:=multiply(B7,X7);



(7)(7)

(15)(15)
> > 

> > 

> > 

(17)(17)

(19)(19)

> > 

(16)(16)

(14)(14)

> > 

(13)(13)

(20)(20)

> > 

(18)(18)

> > 

(3)(3)

sum(YY7[i,1],i=1..7);
9.927927240

sqrt(sum((b7[i])^2,i=1..7));
0.8314812084

XX7:=matrix(7,1,[x1,x2,x3,x4,x5,x6,x7]);

EST7:=matrix(1,7,[1,1,1,1,1,1,1]);

multiply(EST7,XX7);

multiply(B7,XX7);

multiply(EST7,multiply(B7,XX7));



(26)(26)

(7)(7)

(25)(25)

> > 

> > 

> > 

> > 

(13)(13)

(22)(22)

(21)(21)

> > 

(23)(23)

(3)(3)

(24)(24)

> > 

with(simplex);

cnsts := {.7*x1-.1*x2-.15*x3-.5e-1*x4-.3e-1*x5-.1e-2*x6-.2*x7>=0,

-.5e-1*x1+.6*x2-.25*x3-.1e-1*x4-.2e-1*x5-.4e-1*x6-.1*x7>=0,

-.1e-1*x1-.2e-1*x2+.8*x3-.5e-1*x4-.1*x5-.3e-1*x6-.1e-1*x7>=0,

-.2e-1*x1-.1e-1*x2-.1*x3+.7*x4-.15*x5-.25*x6-.3e-1*x7>=0,-.15*x1

-.1*x2-.13*x3-.11*x4+.7*x5-.1e-1*x6-.2e-1*x7>=0,-.5e-1*x1-.4e-1*

x2-.7e-1*x3-.1*x4-.9e-1*x5+.75*x6-.4e-1*x7>=0,-.2e-1*x1-.3e-1*x2

-.1e-1*x3-.2*x4-.25*x5-.15*x6+.97*x7>=0,x1+x2+x3+x4+x5+x6+x7=

22.47795838}:

obj := .9e-1*x3+.6e-1*x5+.40*x1+.30*x2+.18*x4+.57*x7+.269*x6:

maximize(obj,cnsts union {x1>=0,x2>=0,x3>=0,x4>=0,x5>=0,x6>=0,

x7>=0});

subs({ x1 = 3.739313424,x2 = 2.536118395, x3 = .6303503832,  x4 =

1.605619587,x5 = 1.858214163, x6 = 1.448949195, x7 = 10.65939323}

,cnsts);

subs({ x1 = 3.739313424,x2 = 2.536118395, x3 = .6303503832,  x4 =

1.605619587,x5 = 1.858214163, x6 = 1.448949195, x7 = 10.65939323}

,obj);
9.179418273

subs({x5 = 1.858214163, x1 = 3.739313424, x3 = .6303503832, x2 = 

2.536118395, x4 = 1.605619587, x6 = 1.448949195, x7 = 

10.65939323},sqrt(x1^2+x2^2+x3^2+x4^2+x5^2+x6^2+x7^2));
11.94005004

X7[1,1];X7[2,1];X7[3,1];X7[4,1];X7[5,1];X7[6,1];X7[7,1];
5.743990324
4.307992743
1.292397823
2.584795646
0.8615985487
3.862833493
8.185186212



(7)(7)

(13)(13)

(21)(21)

> > 

(27)(27)

> > 

(3)(3)

subs({ x1 = 5.743990324,x2 = 4.307992743, x3 = 1.292397823,  x4 =

2.584795646,x5 = .8615985487, x6 = 3.862833493, x7 = 8.185186212}

,cnsts);


